crol 23} o

’H=Z2H)

Fdtry =a— Y
2, y=ax+2 2 1 /
o7} oL P @ y=r—2
2,0 o] g2 7ot \54

o2 Q4 >z

< y=azr+2
LA z+ay+6 =0 YA
o aefjmrt o5t Z& N
o, &4 a 9] 2 ot e 0 >
2},

N

QA y = — 2o +29] o] {1, 0} o, 3]
oL
@ {3, 5} @ {4, 8} ® {5, 8}
@ {6, 9} ® {7, 10}

= 1 — _
AT y = Jo o+ 19 2AZO| ek b AW &
(7

% 1 ant 9% 92 o

=71
Q@ y=28 ©y=-22
®© y=6x+7 @y=-2-9
®y=—z+1 ® y = —10z + 100

0006060 ©0066 060606
® 0006 060,06

%i}@-'q\— = *2334’27]_ T ;‘(:_'] (37 p)ﬂ (qa - 2)
A, p + 6¢ °] #& F-5tef=t

il

® -5 @0 ® 2 @ 8 ® 11

ARt y = ax + 3 o I I 2 7} 2 oA 5
7] F7V W, y = 6 W F7HITh ek o] 1
o =A (%, p) , (4, ) EAE W, ptq o F=
TFstolat.




® 15 @ 16 ® 17 @ 18 ® 19

10. Aol 0 <z <24 4 W], 3 f(z) o I ==
o 2T f(2) = f(o+4) & WEGHE 2 O S
Fatelet,

5

(10, 10)

(24,0
xr

(20, -5)




